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Problem Description
BE—NRESEENERFNE, SITRHLHIRR, WE—MIRAHI—R, RHXA,

note

BB RMIZE O(log n)IESZEM O(1)FHERERIETT.
e.g’

o =5l 1:

i [1,1,2,3,3,4,4,8,8]

Hi: 2

o {5l 2:

N [3,3,7,7,10,11,11]

w10
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Left subarray Right subarray
e I

1 114 | 4 6|1 6| 8|99

public static int singleNonDuplicate(int[] nums) {
int left = 0;
int right = nums.length - 1;
while (left <= right) {
int mid = left + (right - left) / 2;
if (mid -1 >= 0 && nums[mid] == nums[mid - 1]) {
/] FEHEA
if ((mid-1)&1)==1){
right = mid - 2;
} else {
left = mid + 1;
}

} else if (mid + 1 < nums.length && nums[mid] == nums[mid + 1]) {
/] EEEEA
if (mid & 1) == 1) {
right = mid - 1;
} else {
left = mid + 2;
}
} else {
return nums[mid];
}

System.out.printin("left = " + left);
System.out.printIn("right = " + right);

}

return O;

}
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